This report contains the transfers results.

Contest Name

Valid Votes

Positions to be Filled

Quota

Ward 8 - Cumnock and New Cumnock

4,476

4

896

### Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Billy CRAWFORD	Scottish Labour Party	1,349
June KYLE	Scottish Labour Party	593
Jim MCMAHON	Scottish National Party (SNP)	897
Jacqui TODD	Scottish National Party (SNP)	701
Neill WATTS	Scottish Conservative and Unionist	827
Fraser WRIGHT	Scottish Liberal Democrats	109
	Total	4,476

Candidate Billy CRAWFORD Elected with 1,349 votes, being in excess of the quota of 896 Candidate Jim MCMAHON Elected with 897 votes, being in excess of the quota of 896

This report contains the transfers results.

# Stage 2 - Surplus of Billy CRAWFORD

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to June KYLE	1,098	0.33580	368.70840
Transfer to Jacqui TODD	39	0.33580	13.09620
Transfer to Neill WATTS	62	0.33580	20.81960
Transfer to Fraser WRIGHT	15	0.33580	5.03700
No further preference	135	0.33580	45.33300
Not transferred due to rounding			0.00580
	Total		453.00000

This report contains the transfers results.

# Stage 3 - Surplus of June KYLE

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Jacqui TODD	83	0.06832	5.67056
Transfer to Neill WATTS	102	0.06832	6.96864
Transfer to Fraser WRIGHT	125	0.06832	8.54000
Transfer to Jacqui TODD	151	0.02294	3.46394
Transfer to Neill WATTS	177	0.02294	4.06038
Transfer to Fraser WRIGHT	213	0.02294	4.88622
No further preference	283	0.06832	19.33456
No further preference	557	0.02294	12.77758
Not transferred due to rounding			0.00652
	Total		65.70840

This report contains the transfers results.

# Stage 4 - Surplus of Jim MCMAHON

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
No further preference	66	0.00111	0.07326
Not transferred due to rounding			0.00433
	Total		1.00000

This report contains the transfers results.

# Stage 5 - Exclusion of Fraser WRIGHT

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Jacqui TODD	25	1.00000	25.00000
Transfer to Neill WATTS	52	1.00000	52.00000
Transfer to Jacqui TODD	2	0.33580	0.67160
Transfer to Neill WATTS	3	0.33580	1.00740
Transfer to Jacqui TODD	25	0.06832	1.70800
Transfer to Neill WATTS	35	0.06832	2.39120
Transfer to Jacqui TODD	33	0.02294	0.75702
Transfer to Neill WATTS	54	0.02294	1.23876
Transfer to Jacqui TODD	1	0.00111	0.00111
No further preference	32	1.00000	32.00000
No further preference	10	0.33580	3.35800
No further preference	65	0.06832	4.44080
No further preference	126	0.02294	2.89044
No further preference	4	0.00111	0.00444
Not transferred due to rounding			0.00000
	Total		127.46877